Answer

Marks

f(x)=1-2x g(x)=3x*

@ (9-f)(x)=9(x)-f(x)
=3x* -1-2x

feg)(x) = f(x)-g(x)
= (1-2x)(3x*)
=3x*-6x%°

(f+9)(2)=3(2) -6(2)

=12—-48=-36
9)(x)="f(g(x))
= f(3x2)

() (

(©) (fo

fof)(x)="f(f(x))
= f (1-2x)
=1-2(1-2x)
=4x-1
oft) 42

=1
(e) Domain g(x)=all real numbers

) 0(-3)=3(-3)
~3(9)=27

(@) g(x)=3x*
y =3x°
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1 0 1x] 1
@|1 4 -3|y|=-3
_1 -2 1|z 3
101 4 -3 L 4
() |1 4 -3=-1 n
2 1| pn -2
1 2 1
=(-1)(4-6)+(-2-4)
=2+(-6)=—4
J4 9 3 1 4|7
2 1 1 1 1 -2
0 11 -1 0
©) adjA=| — -
2 1 1 1 -2
Jo 1 1 1 10
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25
X -l M1
e =1 = —|-3
(©) )Z/ 2 2 3
31,
12 2 |
(2 Al
Al
=1 Al
_3
(f) 11 Marks
(a) —2[2x+3+4>-16
—2|2x+3+4-4>-16-4 ML
—2|2x+3>-20
(—ij(—2|2x+3|)s —ij(—zo)
2 2 Al
|2x+3]<10
Case 1: Case 2: M1M1
2X+3<10 —(2x+3)<10
2x<7 2X+3>-10
XSZ 2x>-13
AlAl
-13
X=—
3(x-1 M1
(b) ( )<x—2
2
3(x—1)<2x—4
3X—3<2x—-4 Al
Xx<-1
8 Marks
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